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i1, 70735 LDHBERAT, 7075 LD1)~DEZZHEILN,
<7O0735LOFE> <JavaZoisL>
MLEEN 2 //7 5 ZBowling
HEEHOWEBRIA T ) v IRED T -5 2 AT] import java.util. Scanner;
L, et L7 e 7« A7 VA ILRRT %, public class Bowling {
AJITF—% public static void main(String[] args) {
g — ) 237 int code;
% XX X (B 1R) ?nt score;
i int somu = 0;
fﬁ:% int eigyo = 0;
HEa—rEAT) =1 int saiko = 0;
2 a7 aEAS] =80 Scanner sc = new Scanner(System. in);
& — K& AT =>2 System. out. print ("#F 3 — F &2 AT) =>");
2 a7 AN =120 code = sc.nextInt();
B —rFEAS =1 while(code != -1) {
Z a7z AT =>203 System. out. print("z 2 7 & AS] =");
o —rA2 AT =2 score = sc.nextIntQ;
237 %A =>198 if(code == 1) {
! \ il 5
HEa— V2 AT =2 }oelse {
Z a7z AT =>108 eigyo = eigyo + score;
WEa— FE AN =2 }
237 %A =>125 if(score > saiko) {
& — K& AT =>-1 saiko = score;
}
<HEHER> ‘ . System. out. print("#EH I — K2 AT =>");
B TP [ZE S code = sc.nextInt();
[(&itzx 7] 1,100 1,083 }
[ﬁ#ﬂﬁ(ﬁ]f] R F — £ DR | sc. close():
KERNFEES=g 203 (FB2X) System. out. printlnQ);
URE eSS System. out. println(" <ZHiFHEHE>");
I P e System. out. println(" fiavs s I,
Lo+ j: )]\/J‘ o 1 @ ] ::/,} ;‘ A 73}\77 System. out. printf (" [&&Ft 2 3 7] %, 4d %, 4d¥n", somu, eigyo):
j— z)o £ i)y ljﬂ.ﬂ% a—Fl31 b‘fnu\?ﬁ%& 2 75) E’v%ljﬂ:ﬁ System. out. print(" [%Hﬂ(*”ﬁfﬁ] ”) 5
Th b, if (somu > eigyo) {
9. WELICAE R a T AL TS, System. out. printIn("F&EEF — 2 DIEF] 1 ") ;
8. F—R= KPOHEI—FIC -1 HATTSNED, D sten ont.print S — £ OIS,
(k@d@fﬁ%ff5 o } else { ’ ’ i ’
B 2MDOLSICHE CLOGFTRITEFRIRT b, System. out. println("5| & 433",
237 DOKREVRBERFIF — L& LTERT ) o .
3. b, AR TARUBAR [FlEny) | SstwouterindCIAAREAS 7] s L
T FRT B }

BB, BARE 2374255 L U ART
R txi’o 1I/\E’*x:77bfff§§&dééi%éti,
FAICATILicT — 4 2B%T %,
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<JavaZOoUsL>
// 7 5 ZBunrui

public class Bunrui {

public String mei;

public int kyoriKei = 0;

public int syohiKei = 0;

public int heikin;

public Bunrui(String mei) {
this. mei = mei;

}

public void syukei(int kyor

i, int syohi) {

kyoriKei = kyoriKei + kyori;
syohiKei = syohiKei + syohi;

}

public void keisan() {

heikin = | (8)

}
}

//7 5 ZNenpiSyukei

import java. io. BufferedReader;
import java. io.FileReader;
import java. io. IOException;

public class NenpiSyukei {

2014.09 2— @

public static void main(Stringl] args) throws IOException {

String[] syasyuMei = {
int[] kyoriSyukei = {0,
int[] syohiSyukei = {0,

NS ey

0,0,0,0,0,0,0,0,0,0};
0,0,0};

0,0,0,0,0,0,0,0,

Bunrui bunG = new Bunrui("#'v ) v
Bunrui bunfl = new Bunrui("/>4 7' » FHEL");
Bunrui bunK = new Bunrui ("% H &g
BufferedReader fileln = new BufferedReader (new FileReader("drive.csv"));

String line;

", ~ "KWGN ")

while((line = fileIn.readLine()) != null) {
String[] str = line.split(",");
int hi = Integer. parselnt(str[0]);
int bunruiCode = Integer. parselnt(str[1]);
int syasyuCode = Integer. parselnt(str[2]);

int kyori = Integer. parselnt(str[3]);
int syohi = Integer. parselnt(str[4]);

if (bunruiCode == 1)

{

bunG. syukei (kyori, syohi);
} else if(bunruiCode == 2) {

bunfl. syukei (kyori, syohi);
}oelse {

bunK. syukei (kyori, syohi);

}

kyoriSyukei [syasyuCode] = kyoriSyukei[syasyuCode] + [ (4) [
syohiSyukei [syasyuCode] = syohiSyukei[syasyuCode] + syohi;

}

fileln. closeQ;
System. out. printIn("

System. out. println(" HEY
for(int 1 = 1; 1 <= 10; i+H) {

ARSI B I AAE R 5

HER BT 5,

int nenpi = kyoriSyukei[i] / syohiSyukeili];

String biko;
if (nenpi >= 20) {

biko = "©O";

}else if((C__(B) ] {
biko = "A";

} else {
biko = "

}
System. out. printf ("%-Ts %, 4d

%2d %1s¥n",

syasyuMei[i], kyoriSyukeil[i], syohiSyukeil[il, nenpi, biko);

}

bunG. keisanQ) ;
System. out. printf ("
bunH. keisanQ ;
System. out. printf ("
bunk. keisanQ ;
System. out. printf ("

%-Ts D NHIREIZ
%-Ts DR E T

%-Ts DIFIGIRE 13

%2d¥n", bunG. mei, bunG. heikin);
%2d¥n", bunH. mei, bunH. heikin);

%2d", bunK.mei, bunK. heikin);
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<TYVOEBEBITOISL>

Option Explicit
Dim Dmei(20) As String, Ipn(40) As Long, Ksaiko As Long, Osaiko As Long

Private Sub UserForm Initialize()
Dim 1 As Long, Tok(20) As Long, Skubun As Long, Nkubun As Long, DcodA As Long, DcodB As Long, IpnKei As Long, TensuKei As Long

Dmei(1) = "F—24=F ": Dmei(2) = "W Kgk ": ~ Dmei(19) = " " Dmei(20) = "/\EARKE:
For i =1 To 20
Tok(i) = 0
Next 1
For 1 = 1 To 40
Tpn(i) =0
Next 1
Ksaiko = 0
Osaiko = 0

TextBox1. Text = ""
Call Syokika
Open ThisWorkbook. Path & "¥shinsa. csv" For Input As #1
Do While Not EOF(1)
Input #1, Skubun, Nkubun, DcodA, DcodB
If Then
Tok(DcodA) = Tok(DcodA) + 50
Tok(DcodB) = Tok(DcodB) + 25
Else
DcodA = DcodA + Nkubun * 20
DcodB = DcodB + Nkubun * 20

Tpn(DcodA) = | (2)
Ipn(DcodB) = Ipn(DcodB) + 5
End If
Loop
Close #1
For (3)

If Ipn(i) > Ksaiko Then
Ksaiko = Ipn(i)

End If

If Tpn(i + 20) > Osaiko Then
Osaiko = Ipn(i + 20)

End If

IpnKei = Ipn(i) + Ipn(i + 20)

TensuKei = + IpnKei

TextBox1. Text = TextBoxl. Text & " " & Format(i, "#0") & " " & Dmei(i) & " " & Format(Tok(i), "#, ##0") & _
! " & Format(IpnKei, "#,##0") & " " & Format(TensuKei, "#, ##0") & Chr(13) & Chr(10)

Next 1
End Sub

Private Sub %M _Click()
Dim m As Long
m = Val(TextBox2. Text)
Labell. Caption = Dmei(m)
Label2. Caption = Format(Ipn(m), "#, ##0")
Label3. Caption = Format(Ipn(m + 20), "#, ##0")
If Ipn(m) = Then
Label?. Caption = Label2. Caption & "©"
End If
If Ipn(m + 20) = Osaiko Then
Label3. Caption = Label3. Caption & "©"
End If
End Sub

Private Sub 7 ) 7 Click(Q
Call Syokika
End Sub

Private Sub #7 Click(O
End
End Sub

Private Sub Syokika()
TextBox2. Text = "": Labell. Caption = "": Label2.Caption = "": Label3.Caption = ""
End Sub
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WORKING-STORAGE SECTION.
l

01 DAI PIC 9(01)
01 SYO PIC 9(02).
01 P PIC 9(01).
01 GNIN PIC 9(03).
01 S PIC 9(02).
01 SAGYO PIC 9(01)
01 AMARI PIC 9(01)
01 SATKO PIC 9(03).
l
01 MEISAIL.
02 MEI-R OCCURS 5 TIMES
03 PIC X(12).
03 M-DNIN PIC 779
01 MEISAT2.
02 PIC X(02) VALUE SPACE
02 M-DNAM  PIC X(12).
02 PIC X(04) VALUE SPACE
02 M-SNAM  PIC X(12).
02 PIC X(09) VALUE SPACE
02 M-SNIN  PIC 79
02 PIC X(05) VALUE SPACE

02 M-BIKO  PIC X(02).
l

PROCEDURE DIVISTON,

P1. OPEN INPUT KIBO-F OUTPUT PRINT-F
INITTALIZE E-FLG DNIN-T SNIN-T GNIN SATKO MEISAT1
PERFORM UNTIL E-FLG = 9

READ KIBO-F
AT END
MOVE 9 TO E-FLG
NOT AT END
COMPUTE DAI =
COMPUTE DNIN(DAI) = DNIN(DAI) + 1
COMPUTE SYO = KIBO - DAT * 100
COMPUTE SNIN(SY0) = SNIN(SYO) + 1
END-READ
END-PERFORM
PERFORM VARYING P FROM 1 BY 1 UNTIL P > 5
MOVE DNIN(P) TO M-DNIN(P)
COMPUTE GNIN = | (2) \
END-PERFORM
WRITE PRINT-R FROM METSAT1 AFTER 1
(3)
PERFORM VARYING S FROM 1 BY 1 UNTIL S > 25
COMPUTE SAGYO = S / 5

COMPUTE AMART = S - SAGYO * 5
IF AMART =1
THEN

MOVE DNAM(P) TO M-DNAM
COMPUTE P = P + 1
ELSE
MOVE SPACE  TO M-DNAM
END-IF
MOVE SNAM(S) TO M-SNAM
MOVE SNIN(S) TO M-SNIN

P @ ]
THEN
NOVE "O"  TO M-BIKO
ELSE
NOVE " " TO M-BIKO
END-IF

WRITE PRINT-R FROM MEISAI2 AFTER 1
IF SNIN(S) > SATKO
THEN
MOVE SNIN(CS) TO SAIKO
END-1IF
END-PERFORM
MOVE GNIN TO G-NIN
WRITE PRINT-R FROM GOKEI-R AFTER 1
MOVE TO S-SATKO
WRITE PRINT-R FROM SATKO-R AFTER 1
CLOSE KIBO-F PRINT-F
STOP RUN.
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